HEETERNER—E

KiRES |Ehl PR XME (R~ R) R (km) |
196|HT EEPIR B EF BT 78 KRB R ~ B B ET = P S 1 1
167|H7 BEHMR H B ET SR B EF 1B 21~ B FF BT8R SR A A1 0.3 1
76| T BENRIL ORR HEFET R L O TA~ 3 S ERR L O 8 H 0.1 1
304 | &7 MER FHAR HEHME—TEBE~BEENR=ZTH 0.6 2
305|HT SESZINER HEHERAR—T E~BEAR—TH 0.2 2
307 (@7 HEFHEL 2 SR BEHME—TEB~BHIMNE=TH 0.2 1
203| T MNHEH 4 SHR H P BTAY H R B~ H BT H R @ 0.2 2

7|7 18 HTHR HEFETINVE ok~ HEF T E &= 0.1 2
64 |HT [EPNES 7 2eN H EF BT KRS &R ~ H B HT A KBS 50/ 0.2 1
271|HT H 2 BRAR H EFETAZE )[R~ B B ETsE A1 3.2 2
95|y /NEIFT - B AR B B BT/ NEI P8R B~ B BF BT = 3R 0.2 1
341 (@7 /INEIFTHR H EF BT/ NEIPT 3 E B~ B B BT/ NEIPIME AL 0.3 1
236|HT AR B ER AEARER~BEFIASEL 3.7 2
231|#7 THM# 1 5HR HEFET A AR 1L~ B BT R AR L 0.2 2
370(®7 =R FER HEFPHT = +3F 850~ HEFRT R R/IR 1.5 1
89| HT Ptk R HEF BT/ B F ~ H BRI ATk B 0.6 2
371|(®7 AIFIEEAR HEPETIEH B~ HEBHER/NR 0.3 1




